mx. — moment of mass of the ith particle
with respect to the origin

M, => mx — moment of mass of the system
1=1

with respect to the origin

n

M=) m — total mass of the system
=1






¥ — =1 o\~ ~ _ i

?(eg\l 2,( Oﬁ’(’A/ ~n
preVN'™ QiR 2. m

1=1 i=1

M, => mx — moment of mass of the system
1=1
with respect to the y —axis.
M, => my, — moment of mass of the system

1=1
with respect to the x —axis.



M=>m
=1

total mass of the system.



a. vertical strips




b. horizontal strips cae o GO

A= L 2y

of T2

ceﬂfrmd at Y%gy where

j 2y +y°)(2y - y*)dy

M, _7
M

X

o[ (2y-y?)dy
o[ y(2y-y?)dy
v pjo 2y — y? )dy

y:




~ CO LK

Center of: Mass
of a Solid of Revolution



e\ cO K

The center 8 Of the system is at (X. V.2
wheke pad

N n

Zn:mixi Zmi Y, Zmi Z;
Y — =1 1= =1
Zmi
=1

7 1=1 5 _ |
y_ n L = n

m >m
=1 =1









Volume = j dx

The centroid of the solid is at (X,y,Z) where
pf. 4 ) (x)dx
PI

X=k Y= Z=0




Example 5.4.5.2

Set up the expressions in\&e‘({mﬁ‘f X that give

_ )
the centrmc%(%fﬁthé@%ﬁ%zgenerated when the

shacted\fgionds feVolved about x =3,

(2,4), x=3




